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Q1. The gravitational force of attraction between two objects is x. Keeping the masses of the objects
unchanged, if the distance between the objects is halved, then the magnitude of gravitational force
between them will become:​​​​​​​

A x
4

B x
2

C 2x D 4x

1 Mark

Q2. When a piece of cork is put into the water it starts floating on the surface of water due to the upward
buoyant force from water.
If the cork is pushed more inside the water by applying the force than the buoyant force:

A Will increase as the cork is immersed into the water.
B Will decrease as the cork is immersed into the water.
C Will first increase and then decrease as the cork is immersed more into the water.
D Will remain the same as long as the cork is inside the water.

1 Mark

Q3. When a solid block is fully immersed in water, the volume of the water displaced is:

A Greater than the volume ofthe block B Less than the volume of the block
C Equal to the volume of the block
D Depends upon the manner in which the block is immersed in the liquid

1 Mark

Q4. The force of buoyancy is equal to:

A Weight of the body B Weight of the liquid displaced by the body C Apparent weight of the body
D None of these

1 Mark

Q5. Which one of the following statements is true:

A Archimedes' principle can also be applied to gases
B The buoyant force depends on the nature of object immersed in the liquid.
C Ice floats in water because the density of ice is more than that of water.
D Force acting on a unit area is called thrust.

1 Mark

Q6. An object is put one by one in three liquids having different densities. The object floats with 
1
9 ,

2
11  and 

3
7 parts of their volumes outside the liquid surface in liquids of densities d, d and

d respectively. Which of the following statement is correct?
1. d  > d  > d
2. d  > d  < d
3. d  < d  > d
4. d  < d  < d

A d  > d  > d B d  > d  < d C d  < d  > d D d  < d  < d

1 Mark

Q7. Why does a mug full of water feel lighter inside water:

A Because of Buoyant force B Because of Gravitational force C Because of an increase in velocity
D Because of its kinetic energy

1 Mark

Q8. If suddenly the gravitational force of attraction between earth and satellite revolving around
it becomes zero, then the satellite will:

A Continue to move in its orbit with same velocity
B Move tangential to the original orbit with the same velocity C Becomes sationary in its orbit
D Move towards the earth

1 Mark

Q9. The school bags are generally provided with the broad strips because: 1 Mark
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A
It will spread the force of the bag over the large area of the shoulder of the child producing large pressure.
B

It will spread the force of the bag over the large area of the shoulder of the child producing less pressure.
C It has become a trend among the students to carry the bags with wide strips.
D

It will spread the force of the bag over the small area of the shoulder of the child producing less pressure.

Q10. Apparent loss of weight of a body when immersed in a liquid can be explained on the basis of:

A Molecular theory B Electron theory C Archimedes' principle. D Bernoulli's principle.

1 Mark

Q11. An earth-like planet has a radius equal to double the earth's radius. The acceleration due to gravity on
its surface will be:

A g B g
2

C g
4

D g2

1 Mark

Q12. The relative densities of four liquids P, Q, R and S are 1.26, 1.0, 0.84 and 13.6 respectively. An object is
floated in all these liquids, one by one. In which liquid the object will float with its maximum volume
submerged under the liquid?

A P B Q C R D S

1 Mark

Q13. The density of water is 1000kg/m  and the density of copper is 8900kg/m . Which of the following
statements is incorrect?

A =
The density of a certain volume of copper
The density of the same volume of water = 8.9 B =

The volume of a certain mass of copper
The volume of the same mass of water = 8.9

C =
The weight of a certain volume of copper
The weight of the same volume of water = 8.9 D =

The mass of a certain volume of copper
The mass of the same volume of water = 8.9

1 Mark

Q14. The weight of an object:

A Is the quantity of the matter it contains B Refers to its inertia
C Is the same as its mass but is expressed in different unit
D Is the force with which it is attracted towards the earth

1 Mark

Q15. Write the approximate weight of a body of mass 5kg:

A 50N B 5N C 0.5N D 50000N

1 Mark

Q16. The value of acceleration due to gravity:

A Is same on equator and poles. B Is least on poles. C Is least on equator.
D Increases from pole to equator.

1 Mark

Q17. An object is put in three liquids having different densities, one by one. The object floats with 
1
9 ,

2
11

and 
3
7  parts of its volume outside the surface of liquids of densities d , d  and d  respectively. Which

of the following is the correct order of the densities of the three liquids ?

A d  > d2 > d B d  > d  > d C d  < d  < d D d  > d  >d

1 Mark

Q18. The mass of a body on earth is 60kg. Its mass on moon will be:

A 360kg B 60kg C 10kg D 1/ 6 kg

1 Mark

Q19. A ball weighing 4kg of density 4000kg m  is completely immersed in water of density103kg m . What
will be the buoyant force acting on it?

A 100N B 10N C 1600N D 16N

1 Mark

Q20. Buoyant force is directed:

A Upwards B Downwards C Sideways D At ll directions

1 Mark

Q21. Three spheres have radii 1cm, 2cm and 3cm, respectively. Which sphere exerts maximum pressure on
earth?

A First B Second C Third D All equal

1 Mark
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1 2 3

1 3 2 3 1 1 2 3 3 2 1
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Q22. The mass of moon is about 0.012 times that of the earth and its diameter is about 0.25 times that of
earth. The value of G on the moon will be:

A Same as that on the earth. B About one-fifth of that on the earth.
C About one-sixth of that on the earth. D About one-fourth of that on the earth.

1 Mark

Q23. Four balls, A, B, C and D displace 10mL, 24mL, 15mL and 12mL of a liquid respectively, when
immersed completely. The ball which will undergo the maximum apparent loss in weight will be:

A A B B C C D D

1 Mark

Q24. The universal Law of Gravitation explained:

A The tides due to moon and the sun. B The force that binds us to the earth.
C The motion of the planets around the sun. D All of the above.

1 Mark

Q25. Which scientist are related to gravitation ?

A Newton B je purkinje C Galileo D Haeckel

1 Mark

Q26. Why is relative density calculated with respect to the density of water particularly at 4 C?

A Because water displays Archimedes principle at 4 C B Water has the highest density at 4 C
C Water starts turning into ice at 4 C D All of the above

1 Mark

Q27. Which of the following has highest relative density:

A Water B Oil C Mercury D Glass

1 Mark

Q28. If the weight of an object in air and a dense liquid are W  and W  respectively, then upthrust:

A W  - W B U = W  + W C U = W  - W D U = 2W

1 Mark

Q29. A boy is whirling a stone tied with a string in a horizontal circular path as shown in the following
figure:

If the string breaks the stone:

A Will move along a straight line towards the centre of the circular path.
B Will move along a straight line the tangential to the circular path.
C Will move along a straight line perpendicular to the circular path away from the boy.
D Will continue to move in the circular path.

1 Mark

Q30. If the mass of a body is M on the surfrace of the earth, then its mass on the surface of the moon will
be:

A M
6

B M C M + 6 D Zero

1 Mark

Q31. Any solid will float in water if its relative density is:

A Greater than unity B Equal to unity C Less than unity D Infinite

1 Mark

Q32. Newton universal law of gravitation applies to:

A Small bodies only B Planets only C Both small and big bodies
D Only valid for solar system

1 Mark

Q33. The weight of an object at the centre of the earth of radius R is:

A Zero. B R times the weight at the surface of the earth. C Infinite.
D 1

R2  times the weight at the surface of the earth.

1 Mark
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Q34. The correct equation to show relation between G and g is:

A G = Mm/d B G = Mm/R C G = G Mm/d D G = Gm/R
1 Mark

Q35. he upward force exerted by a liquid on an object is called _______?

A Upward force B Top force C Buoyant force D Fluid force

1 Mark

Q36. An apple falls from a tree because of the gravitational attraction between the earth and the apple. If
F  is the magnitude of the force exerted by the earth on the apple and F  is the magnitude of the force
exerted by the apple on the earth, then:

A F  is very much greater than F B F is very much greater than F C F and F are equal
D F  is only a little greater than F

1 Mark

Q37. Which of the following physical quantities has no unit:

A Relative density B Density C Pressure D Thrust

1 Mark

Q38. Archimedes' principle states that the buoyant force applied to an object:

A Is greater the weight of the fluid the object displaces
B Is equal to the weight of the fluid the object displaces
C Is less than the weight of the fluid the object displaces D Is zero

1 Mark

Q39. When an object moves with a constant acceleration, under the influence of force of gravitation of the
earth only, the object is said to have:

A Free fall B Accelerated fall C Projectile motion D Constant velocity

1 Mark

Q40. Gravitational force between two objects is 10N. If masses of both objects are doubled without
changing distance between them, then the gravitational force would become:

A 2.5N B 20N C 40N D 10N

1 Mark

Q41. Choose the correct definition of Universal law of gravitation:

A
Every object in the universe attracts every other object with a force which is proportional to the product of
the distance between them and inversely proportional to their masses.
B

Every object in the Universe attracts every other object with a force which is inversely proportional to the
square of the distance between them and proportional to the product of their masses.
C

Every object in the universe attracts every other object with a force which is proportional to their masses
and inversely proportional to the square of distance between them.
D Optaion A or C

1 Mark

Q42. A rectangular wooden block has length, breadth and height of 50 cm, 25cm and 10cm, respectively.
This wooden block is kept on ground in three different ways, turn by turn. Which of the following is
the correct statement about the pressure exerted by this block on the ground?

A The maximum pressure is exerted when the length and breadth form the base.
B The maximum pressure is exerted when length and height form the base.
C The maximum pressure is exerted when breadth and height form the base.
D The minimum pressure is exerted when length and height form the base.

1 Mark

Q43. If earth comes closer to sun by 
3
4 th of the present distance, then the year of earth consists of how

many days?

A 45.625 days B 25.625 days C 50.625 days D 60.625 days

1 Mark

Q44. The value of acceleration due to gravity of earth:

A Is the same on equator and poles. B Is the least on poles. C Is the least on equator.
D Increases from pole to equator.

1 Mark

2 2 2 2
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Q45. The law of gravitation gives the gravitational force between:

A The earth and a point mass only. B The earth and the sun only. C Any two bodies having some mass.
D Any two charged bodies only.

1 Mark

Q46. A boy is whirling a stone tied with a string in an horizontal circular path. If the string breaks, the stone:

A Will continue to move in the circular path.
B Will move along a straight line towards the centre of the circular path.
C Will move along a straight line tangential to the circular path.
D Will move along a straight line perpendicular to the circular path away from the boy.

1 Mark

Q47. Which among the following is not the property of weight:

A It is the force of gravity acting on a body B It is measured by a spring balance
C It is variable and changes with the change in acceleration due to gravity D Its S.I unit is kg

1 Mark

Q48. What is known as thrust:

A Force orthogonal to an area B Force acting along an area C Any force
D None of these

1 Mark

Q49. The universal law of gravitation was postulated by:

A Copernicus B Newton C Galileo D Archimedes

1 Mark

Q50. What will be the weight of a person on earth, who weights 9N on the moon?

A 3N B 15N C 45N D 54N

1 Mark

Q51. Specific gravity of the body is numerically equal to ________ of the body:

A Apparent weight in water B Density C Relative density
D Thermal capacity

1 Mark

Q52. A force of 50N is applied on a nail of area 0.001 cm .Then the thrust applied is:

A 50N B 100N C 0.05N D 10N

1 Mark

Q53. When a body is taken from the earth to the moon:

A Its weight increases B Its weight decreases C Its weight remains unchanged
D It becomes completely weightless

1 Mark

Q54. The _________ force is responsible for providing the necessary centripetal force to planets moving
around the Sun.

A Electrical B Gravitational C Magnetic D None

1 Mark

Q55. Four students A, B, C and D find the acceleration due to gravity at the top of Ooty, Nainital, Mount
Everest and Shimla. The acceleration due to gravity is the least:

A At Ooty since it is the highest. B At Mount Everest as it is the highest.
C At Nainital as only latitude has the effect and not height of the peak. D At Shimla as it is the coldest

1 Mark

Q56. Buoyant force is exerted by:

A Only solids B Only liquids C All fluids D All the above

1 Mark

Q57. Distance between the centres of two stars is 10a. The masses of these stars are M and 16M and their
radii are a and 2a respectively. A body of mass m is fired straight from the surface of the larger star
towards the smaller star. The minimum initial speed for the body to reach the surface of smaller star
is:

A B C D

1 Mark

2
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2
3

GM
a

3
2

5GM
8a

2
3

5GM
a

3
2

GM
a

Q58. Communication satellites move in 44400km around the earth. Assume that the only force acting on it
is that due to the earth, then what is acceleration of such a satellite? (Take, mass of earth = 6 ×
10 kg).

A 0.3m/ s B 0.2m/ s C 0.4m/ s D 0.5m/ s

1 Mark

Q59. The total force exerted by a body perpendicular to a surface is called.

A Pressure B Thrust C Impulse D Collision

1 Mark

Q60. The gravitational attraction between the two bodies increases when their masses are:

A Reduced and distance is reduced B Increased and distance is reduced
C Reduced and distance is increased D Increased and distance is increased

1 Mark

Q61. The force of gravitation exists:

A Only at the surface of the earth B Everywhere in the universe C Only inside the earth
D Only at the surface of the moon

1 Mark

Q62. A tank 5m is high filled with water and then is filled to the top with oil of density 0.85g/ cm . Then
bottom of the tank, due to these liquids is:

A 1.85dyne/ cm B 89.25dyne/ cm C 462.5dyne/ cm D 500dyne/ cm

1 Mark

Q63. Thrust is a ​ quantity:

A Vector B Scalar C Both A and B D Can't say

1 Mark

Q64. In the relation F = G Mm/ do, the quantity G:

A Depends on the value of g at the place of observation.
B Is used only when the earth is one of the two masses. C Is greatest at the surface of the earth.
D Is universal constant of nature.

1 Mark

Q65. Which of the following is involved in buoyancy:

A Solids B Liquids C Gases D Both B and C

1 Mark

Q66. Moon is revolving in a circular orbit with a uniform velocity V0​. If the gravitational force
suddenly disappears, the moon will.

A Continue to move in the same orbit B Move with a velocity V0​ tangentially to the orbit
C Fall down freely D Ultimately comes to rest

1 Mark

Q67. The force that keeps the body in a circular path and is acting towards the center is called?

A Central force B Frictional Force C Centripetal Force D A and C

1 Mark

Q68. Which among the following is a wrong differentiation between mass and weight ?

A Mass is amount of matter in a body whereas weight is the measure of force acting on body.
B Si unit of mass is kg whereas SI unit of weight is newton.
C Mass has both magnitude and direction whereas weight has only direction.
D Mass can easily be measured by beam balance whereas weight can be measured by spring balance.

1 Mark

Q69. Which of the following statement is true:

A G is same at all places on the surface of earth. B G has its maximum value at the equator.
C G is less at the earth's surface than at a height above it or a depth below it.
D G is greater at the poles than at the equator.

1 Mark

Q70. The S.I. units of thrust is same as that of:

A Force/ Area B Force x Area C Force D None of these

1 Mark

Q71. The force of attraction between two unit point masses separated by a unit distance is called: 1 Mark

√ √ √ √
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A Gravitational potential B Acceleration due to gravity C Gravitational field
D Universal gravitational constant

Q72. From the following 3 solids of the same shape and same volume which one has the highest inertia:

A Steel B Wood C Aluminium D None of the above

1 Mark

Q73. Does the force of gravitation exist between two astronauts in space:

A Yes, always B Never C Only under special circumstances
D Only on a planet

1 Mark

Q74. Two objects of different masses falling freely near the surface of the moon would:

A Have same velocities at any instant. B Have different accelerations.
C Experience forces of same magnitude. D Undergo a change in their inertia.

1 Mark

Q75. Weight is:

A Measured by spring balance B Measured by beam balance C Measured in kg
D A scalar quantity

1 Mark

Q76. The upward force acting on the body immersed in a fluid is called:

A Equilibrium force B Buoyant force C True weight D Net force

1 Mark

Q77. Which of the following is true for relative density?

A It is a ratio of density of an object to that of water B It has no unit
C Relative density water is 1 D All of the above

1 Mark

Q78. Two particles are placed at some distance from each other. If, keeping the distance between them
unchanged, the mass of each of the two particles is doubled, the value of gravitational force between
them will become:​​​​​​

A 1
4 times B 1

2 times C 4 times D 2 times

1 Mark

Q79. A body is floating in water with 
2
3  of its volume below the surface of water. What is the density of

body?

A 666.7kg/m B 777.6kg/ m C 656.7kg/ m D 876.6kg/ m

1 Mark

Q80. Any solid will sink in water, if its relative density is:

A less than unity B Equal to unity C Greater than unity D zero

1 Mark

Q81. The gravitational force between two bodies is:

A Repulsive at large distances B Attractive at all places C Attractive at short distances
D Repulsive at short distances

1 Mark

Q82. Law of gravitation gives the gravitational force between:

A The earth and a point mass only. B The earth and Sun only. C Any two bodies having some mass.
D Two charged bodies only.

1 Mark

Q83. The value of g on moon in 1/ 6 th of the value of g on earth. A man can jump 1.5m high on the earth.
He can jump on the moon up to a height of:

A 9m B 7.5m C 6m D 4.5m

1 Mark

Q84. what is the value of g ?

A 8.9m/s B 9.3m/s C 9.8m/s D 8.66m/s

1 Mark

Q85. An object having mass equal to 350g occupies 200cm  of the space. When this object is thrown into a
river what will be the condition of this object there? (Density of water = 1g/ cm )

A It will float on the surface of water. B It will float fully submerged in the liquid.
C It will sink in the liquid. D It will float partially submerged in the liquid.

1 Mark

3 3 3 3
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Q86. Mass is a _______ quantity and weight is a _______ quantity:

A Scalar, vector B Vector, scalar C Tensor, scalar D Vector, vector
1 Mark

Q87. The earth and the moon are attracted to each other by gravitational force. The earth attracts the
moon with a force that is:

A More than that exerted by the moon. B Same as that exerted by the moon.
C Less than that exerted by the moon. D Not related to that exerted by the moon.

1 Mark

Q88. The value of quantity 'G' in the law of gravitation:

A Depends on mass of earth only B Depends on radius of earth only
C Depends on both mass and radius of earth D Is independent of mass and radius of the earth

1 Mark

Q89. The atmosphere consisting of a large number of gases is held to the earth by:

A Winds. B Clouds. C Earths magnetic field. D Gravity.

1 Mark

Q90. The force of attraction between two unit point masses separated by a unit distance is called:

A Gravitational potential. B Acceleration due to gravity. C Gravitational field strength.
D Universal gravitational constant.

1 Mark

Q91. If the weight of a body is 6N on the moon, what will it be on the earth:

A 6N B 36N C 12N D 1N

1 Mark

Q92. Suman has two equal masses. He drops them from the same height. He can make one to reach the
ground earlier than the other by altering the:

A Density. B Surface area. C Volume. D Cannot be altered.

1 Mark

Q93. The force of gravitation between two bodies does not depend upon:

A The separation between them B The gravitational constant C The product of their masses
D The sum of their masses

1 Mark

Q94. Which off the following statement is correct about acceleration due to gravity:

A Value of g varies from place to place. B G is more at equator than at pole.
C G is equal at equator and pole. D G is less at the equator than at the pole.

1 Mark

Q95. What is the relation between thrust and pressure?

A Pressure directly proportional to thrust B Pressure indirectly proportional to thrust
C No relation D None

1 Mark

Q96. An object is put in three liquids having different densities, one by one. The object floats with 
1
9 ,  

2
11

and 
3
7  parts of its volume outside the surface of liquids of densities d , d  and d  respectively. Which

of the following is the correct order of the densities of three liquids?

A d  > d  > d B d  > d  > d C d  < d  < d D d  > d > d

1 Mark

Q97. According to one of the Kepler's laws of planetary motion:​​​​​​​

A r2 ∝ T3 B r ∝ T2 C r3 ∝ T2 D r3 ∝
1

T2

1 Mark

Q98. The SI unit of thrust is:

A N B dyne C kgwt D N

1 Mark

Q99. The gravitational force between two objects is F. If masses of both objects are halved without
changing distance between them, then the gravitational force would become:​​​​​​​

A F
4

B F
2

C F D 2F

1 Mark

Q100. Two objects of different masses falling freely near the surface of moon would:

A Have same velocities at any instant. B Have different accelerations.

1 Mark

1 2 3

1 2 3 2 3 1 1 2 3 3 2 1

m−2
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C Experience forces of same magnitude. D Undergo a change in their inertia.


